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ઉમેદવાર ેનીચેની સૂચનાઓનંુ પાલન કરવાની તકેદારી રાખવી, અլયથા વાંધા-સૂચન અંગ ેકરલે રજૂઆતો իયાને
લેવાશે નહી ં
(1) ઉમેદવાર ેવાધંા-સચૂનો િનયત કરવામા ંઆવેલ વાંધા-સૂચન પԋકથી રજૂ કરવાના રહેશે. 
(2) ઉમેદવાર ેԐՇԐમાણે વાધંા-સચૂનો રજૂ કરવા વેબસાઈટ પર Ԑિસիધ થયેલ િનયત વાંધા-સૂચન પԋકના નમૂનાનો જ

ઉપયોગ કરવો.
(3) ઉમેદવાર ેપોતાન ેપરીԟામા ંમળેલ ԐՇપુિչતકામા ંછપાયેલ ԐՇԃમાંક મુજબ વાંધા-સૂચનો રજૂ ન કરતા તમામ વાંધા-

સૂચનો વેબસાઈટ પર Ԑિસիધ થયેલ Ԑોિવઝનલ આլસર કી (માչટર ԐՇપԋ)ના ԐՇ ԃમાંક મુજબ અન ેતે સંદભӪમાં
રજૂ કરવા. 

(4) માչટર ԐՇપԋ મા ંિનિદӪ Ջ ԐՇ અને િવકճપ િસવાયના વાંધા-સચૂન իયાન ેલેવામાં આવશ ેનહી.ં 
(5) ઉમેદવાર ેજ ેԐՇના િવકճપ પર વાંધો રજૂ કરલે છે અન ેિવકճપ ԁપ ેજ ેજવાબ સચૂવેલ છે એ જવાબ ઉમેદવાર ેપોતાની

ઉԱરવહીમા ંઆપેલ હોવો જોઈએ. ઉમેદવાર ેસચૂવેલ જવાબ અને ઉԱરવહીનો જવાબ િભՂ હશ ેતો ઉમેદવાર ેરજૂ
કરલે વાંધા-સચૂન իયાનમા ંલેવાશ ેનહી.ં 

(6) એક ԐՇ માટે એક જ વાંધા-સૂચન પԋક વાપરવું. એક જ વાંધા-સૂચન પԋકમા ંએકથી વધાર ેԐՇોની રજૂઆત કરલે
હશે તો ત ેઅંગેના વાધંા-સચૂનો իયાન ેલેવાશ ેનહી.ં 
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001. økwshkík{kt çkkiæÄÄ{oLkk «khtr¼f yÂMíkíðLkku Ãkqhkðku .......... ¾kíku òuðk {¤u Au.

(1) îkhfkLkwt {trËh

(2) yzk÷sLke ðkð

(3) sqLkkøkZ{kt yþkufLkk ¾zf ÃkhLkwt Vh{kLk (Ashok Rock edict in Junagadh)

(A) {kºk 1 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 2 (D) {kºk 3

002. Lke[uLkk Ãkife fÞwt rðÄkLk/fÞk rðÄkLkku MkíÞ Au ?

(1) hkýe-fe-ðkð yu «ÏÞkík ðkð Au.

(2) íku W¥kh økwshkík{kt ykðu÷e Au.

(3) íku RM÷k{ef þkMkfku îkhk çkktÄðk{kt ykðe níke.

(4) íku UNESCO rðï ðkhMkk MÚk¤ (World heritage site) Au.

(A) {kºk 1, 3 yLku 4 (B) {kºk 1, 2 yLku 3

(C) {kºk 2, 3 yLku 4 (D) {kºk 1, 2 yLku 4

003. Lke[uLkk Ãkife fÞwt yu økwshkíkLkwt «k[eLkík{ {trËh Au ?

(A) îkhfk (B) økkuÃk

(C) Mkku{LkkÚk (D) Äw{÷e (Ghumli)

004. Lke[uLkk Ãkife fÞwt rðÄkLk MkíÞ LkÚke ?

(1) Ãkkr¤Þk (M{khf ÃkíÚkhku)yu Mkkihk»xÙ yLku fåA{kt «ÏÞkík Au.

(2) þqhðehíkkLkk ÃkíÚkhku ½kuzk Ãkh ÃkwÁ»kku Ëþkoðu Au.

(3) Mkíke ÃkíÚkh ÃkwÁ»kkuLku Ëþkoðu Au.

(4) Mkíke ÃkíÚkh yu ½hLke ykøk¤ {qfðk{kt ykðu Au.

(A) {kºk 1 yLku 2 (B) {kºk 1 yLku 3

(C) {kºk 2 yLku 4 (D) {kºk 3 yLku 4

005. økwshkík{kt Lke[uLkk Ãkife fÞk MÚk¤ku yu çkkiæÄ MÚk¤ku Au ?

(1) ðzLkøkh       (2) ðuhkð¤       (3) ÷kuÚk÷       (4) MkeÞkuxk

(A) {kºk 1 yLku 2 (B) {kºk 2 yLku 3

(C) {kºk 3 yLku 4 (D) {kºk 1 yLku 4

006. MkhËkh Ãkxu÷Lkk SðLk[rhºk Ëþkoðíkwt Mktøkúnk÷Þ õÞkt ykðu÷wt Au ?

(A) LkrzÞkË (B) fh{MkË

(C) Ík÷kðkz (D) WÃkhLkk Ãkife yufÃký Lknª

007. økwshkík{kt .......... MÚk¤u ½hLke Ëeðk÷ku Ãkh ykhMkefk{ «ÏÞkík Au.

(A) fåALkku çkLLke «Ëuþ (B) W¥kh økwshkíkLkku rðMíkkh

(C) Mkkihk»xÙLkku ËrhÞk rfLkkhku (D) Ërûký økwshkíkLkku zwtøkhk¤ rðMíkkh
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008. Lke[uLkk Ãkife fÞk hkòyu ÉøðuË{kt WÕ÷ur¾ík {nkLk ÞwØ{kt ËMk hkòykuLkk Mkt½Lku nhkÔÞku níkku ?

(A) íkwðkoMkMk (Turvasas) (B) MkwËkMk (Sudasa)

(C) ÃkwÁhðk (Pururavas) (D) ÄúwÌkw (Druhyu)

009. çkúkñý, hksLÞ, ði~Þ yLku þwÿLkk MksoLkLkku MktË¼o Ëþkoðíkk Míkkuºk ÃkwÁ»k MkqõíkLkku WÕ÷u¾ ÉøðuËLkk fÞk {tz¤ (ÃkwMíkf){kt
fhðk{kt ykðu÷ Au ?

(A) «Úk{ {tz¤ (ÃkwMíkf) (B) rîíkeÞ {tz¤ (ÃkwMíkf)

(C) Mkkík{k {tz¤ (ÃkwMíkf) (D) ËMk{k {tz¤ (ÃkwMíkf)

010. Lke[uLkk Ãkife fÞku çkkiæÄ Ä{oøkútÚk yu yï½ku»k îkhk h[ðk{kt ykðu÷ LkÚke ?

(A) MkkIËhLktË (B) MkkheÃkwºk «fhý

(C) çkwæÄ [rhºk (D) rðþwæÄ{køk (Visuddhamagga)

011. Pala r[ºkfk{ þi÷e çkkçkíku Lke[uLkk Ãkife fÞwt/fÞkt rðÄkLk/rðÄkLkku MkíÞ Au ?

(1) yk «fkhLke r[ºkfk{ þi÷eLkwt rð»kÞðMíkw yu {nkÞkLk çkkiæÄ Ä{oÚke «¼krðík níkwt.

(2) yk «fkhLkk r[ºkfk{ yu ¼ªík yLku íkkzÃkºkeÞ nMík«ík{kt òuðk {¤u Au.

(3) yk «fkhLke r[ºkfk{ þi÷e yu ystíkk yLku çkkøk ¼ªík r[ºkkuLke þi÷eLku {¤íke ykðu Au.

(A) {kºk 1 yLku 2 (B) {kºk 2 yLku 3

(C) 1, 2 yLku 3 (D) WÃkhLkk Ãkife yufÃký Lknª

012. r[ºkfk{ (Painting)Lke çkwLËe þk¤k (Bundi School of Painting) çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku
MkíÞ Au ?

(A) r[ºkfk{Lke çkwLËe þk¤k (Bundi School of Painting) yu {w½÷ þi÷eLkk r[ºkfk{ MkkÚku økkZ MktçktÄ Ähkðíke
níke.

(B) yk þk¤kyu hMkËkh ðLkMÃkrík yLku Lkkxâkí{f hkºke yðfkþ (Dramatic night skies) {kxuLkk þku¾Lke ÷kûkrýfíkk
Ëþkoðu Au.

(C) (A) íkÚkk (B) çktLku

(D) (A) yÚkðk (B) yufÃký Lknª

013. Lke[uLkk Ãkife fE ÔÞÂõíkyu ¼khíkLke çknkh Mðíktºk ¼khíkeÞ MkuLkkLke MÚkkÃkLkk fhe níke ?

(A) yu{. yuLk. hkuÞ (B) ÷k÷k nhËÞk÷

(C) hkMk rçknkhe çkkuÍ (D) Mkw¼k»k[tÿ çkkuÍ

014. ¼khík (®MkÄw LkËeLkku rðMíkkh) yu RhkLk yu[u{eLkez (Achaemenid) Mkk{úkßÞLkku ¼køk níkku yu .......... Lkk Ãkqhkðk{ktÚke
MÃkü ÚkkÞ Au.

(A) nuhkuzkuxTMk (Herodotus) (B) {uøkuMÚkLkeÍ (Mogasthenes)

(C) Ãkwhký (D) hksíkhtøkeýe

015. Lke[uLkk Ãkife fÞk hkòLkk yk¢{ýÚke ¼khíkLkk EhkLkLke ¾kze, {æÞ yurþÞk yLku ¼q{æÞ «Ëuþ MkkÚkuLkk MktÃkfkuo MÚkkrÃkík
ÚkÞk?

(A) zuheÞMk (Darius) (B) yu÷uõÍkLzh (Alexander)

(C) nwýku (Hunas) (D) WÃkhLkk Ãkife yufÃký Lknª
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016. zkp. çke.ykh. yktçkuzfh rðþu Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

(1) íku{ýu ÷tzLk Mfq÷ ykìV EfkuLkku{eõMk ¾kíkuÚke zkuõxhuxLke WÃkkrÄ «kÃík fhe níke.

(2) íku{ýu 1920 {kt {qf LkkÞf (Mook Nayak) «rMkØ fhðkLke þYykík fhe níke.

(3) íku MkkÞ{Lk ykÞkuøk MkkÚku Mktf¤kÞu÷k níkk.

(4) íku{ýu ykÞo yk¢{ý ðkË (Aryan Invasion Throry) (AIT) Lkku rðhkuÄ fÞkuo níkku.

(A) {kºk 1, 2 yLku 3 (B) {kºk 1, 3 yLku 4

(C) {kºk 2, 3 yLku 4 (D) 1, 2, 3 yLku 4

017. yUø÷ku-{iMkqh ÞwæÄku rðþu Lke[uLkk Ãkife fÞwt rðÄkLk / fÞkt rðÄkLkku MkíÞ Au ?

(1) «Úk{ yUø÷ku-{iMkqh ÞwæÄ{kt niËhy÷e rðsÞe ÚkÞku níkku.

(2) çkeò{kt xeÃkwyu çki÷e (Baillie)Lku nhkÔÞku níkku.

(3) ºkeò yUø÷ku-{iMkqh ÞwæÄ{kt xeÃkwyu nkhLkku Mkk{Lkku fÞkuo níkku.

(4) [kuÚkk yUø÷ku-{iMkqh ÞwæÄ{kt xeÃkw {kÞko økÞk níkk.

(A) {kºk 1, 2 yLku 3 (B) {kºk 1, 2 yLku 4

(C) {kºk 2, 3 yLku 4 (D) 1, 2, 3 yLku 4

018. ÞkËe-I Lku ÞkËe-II MkkÚku òuzku.

        ÞkËe-I  ÞkËe-II

(1) ~Þk{S f]»ý ð{ko (a) hknLkw{kE {eÍzkÞMLkkLk Mk¼k (Rahanumai Mazdayasanan Sabha)

(2) çkunhk{S {÷çkkhe (b) «kÚkoLkk Mk{ks

(3) LkðhkusS VkhËwLkS (c) ¼khíkeÞ Mk{ksþkMºke

(4) h{ý¼kE Lke÷ftX (d) çkk÷ rððkn yLku ËçkkýÃkqðofLkk ðiÄÔÞ Ãkh LkkUÄ ÷¾e

(A) 1 - a,  2 - b,  3 - c,  4 - d (B) 1 - c,  2 - d,  3 - a,  4 - b
(C) 1 - b,  2 - c,  3 - a,  4 - d (D) 1 - b,  2 - c,  3 - d,  4 - a

019. MkÞkShkð økkÞfðkz-III rðþu Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

(1) íku{ýu çkUf ykìV çkhkuzkLke MÚkkÃkLkk fhe níke.

(2) íku{ýu Mkki«Úk{ ð¾ík {Vík yLku VhSÞkík «kÚkr{f rþûký Ëk¾÷ fÞwO.

(3) íku{ýu {nkhkò MkÞkShkð ÞwrLkðŠMkxe ykìV çkhkuzk, ðzkuËhkLke MÚkkÃkLkk fhe.

(4) íku{ýu 1916 {kt ðzkuËhk hkßÞ «ò{tz¤Lke MÚkkÃkLkk fhe níke.

(A) {kºk 3 (B) {kºk 3 yLku 4

(C) {kºk 1, 2 yLku 4 (D) 1, 2, 3 yLku 4

020. {nkøkwshkík yktËku÷Lk çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

(1) {wtçkE hkßÞLkk {wÏÞ{tºkeyu y÷øk hkßÞLke íkhVuý{kt níkk.

(2) 8 ykuøkMx, 1956 Lkk hkus fkUøkúuMk nkWMk, ÷k÷Ëhðkò, y{ËkðkË ¾kíku ½ýk rðãkÚkeoyku þneË ÚkÞk.

(3) rðhkuÄ Ëþkoððk {kxu RLËw÷k÷ Þkr¿kf 1957 Lkk [wLkkð{kt [qtxýe{kt ÷zâk Lkne.

(A) {kºk 1 yLku 2 (B) {kºk 2

(C) {kºk 1 yLku 3 (D) 1, 2 yLku 3

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight



AOW - A ] 4 [ Contd.

021. hksfkuxLke MÚkkrLkf «ò Ãkrh»kËu 1934 {kt ..........Lke ykøkuðkLke nuX¤ hkßÞ îkhk Eòhku ÷kËðkLke çkkçkíkLkku rðhkuÄ
fÞkuo níkku.

(A) s{Lkk÷k÷ çkòs (B) fMíkqhçkk økktÄe

(C) Þw. yuLk. Zuçkh (D) WÃkhLkk Ãkife yufÃký Lknª

022. {nt{Ë çkuøkzkyu sqLkkøkZ{kt ðifÂÕÃkf hksÄkLke çkktÄe níke yLku íkuLkwt Lkk{ çkË÷eLku .......... fÞwO níkwt.

(A) Ëku÷íkkçkkË (B) yk÷e{Ãkwh

(C) {wMíkVkçkkË (D) {n{wËkçkkË

023. ¼khík{kt rçkúxeþ þkMkLk ËhBÞkLk hkÞkuíkðkhe (Ryotwari) ÃkæÄrík Ëk¾÷ fhðk{kt Lke[uLkk Ãkife fkuý Mktf¤kÞu÷ níkk ?

(1) ÷kìzo fkuLkoðku÷eMk       (2) yu÷uõÍkLzh hez       (3) Úkku{Mk {wLkhku

(A) {kºk 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 2 (D) {kºk 1 yLku 3

024. Lke[uLkk Ãkife fÞk ykrËðkMke çk¤ðkLkwt {wÏÞ fkhý yu {kLkð çkr÷ËkLk ÃkhLkku «ríkçktÄ níkku ?

(A) MktÚkk÷ çk¤ðku (Santhal uprising) (B) {wLzk çk¤ðku (Munda uprising)

(C) ¾kUz çk¤ðku (Khond uprising) (D) WÃkhLkk Ãkife yufÃký Lknª

025. çktfe{[tÿ [uxhSyu íku{Lke Lkð÷fÚkk ‘ykLktË {X’{kt Lke[uLkk Ãkife fÞk çk¤ðkLku «ÏÞkík çkLkkÔÞku níkku ?

(A) ¼e÷ çk¤ðku (B) htøkÃkwh yLku ËeLkkÃkwh çk¤ðku

(C) rçk~LkwÃkwh yLku çkeh¼q{ çk¤ðku (D) MktLÞkMke çk¤ðku

026. fwþkMkLk (Misgovernance)Lkk çknkLkk nuX¤ rçkúxeþ þkMkLk îkhk Lke[uLkk Ãkife fÞk hkßÞLkk þkMkfLku Mk¥kk{ktÚke Ëqh
fhðk{kt ykÔÞk níkk ?

(A) yðÄ (B) ÍktMke

(C) LkkøkÃkwh (D) Mkíkkhk

027. zeMkuBçkh 1916 Lkk ÷¾Lkki Mkºk{kt Lke[uLkk Ãkife fÞk LkuíkkLkwt ð[oMð níkwt ?

(A) sðknh÷k÷ LkunY (B) çkk÷ øktøkkÄh rík÷f

(C) {kuíke÷k÷ LknuY (D) {ËLk {kunLk {k÷rðÞk

028. OMR Lkwt Ãkqhwt Lkk{ þwt Au ?

(A) Optical Mark Recognition (B) Original Mark Recognition

(C) Original Marking Registration (D) Optical Mark Registration

029. [kuÚke ÃkuZeLkk fkuBÃÞwxMko{kt (Fourth Generation Computers) {Õxe «kuMkuMkªøk ykuÃkhuxªøk MkeMx{ (Multi
Processing Operating System) yu .......... Úke y{÷{kt {qfkÞk níkk.

(A) Serial Programming Languages (B) Parallel Programming Languages

(C) Concurrent Programming Languages (D) Time Sharing Programming Languages

030. rþûkfku {kxu National Digital Infrastructure íkhefu fkÞo fhu íku {kxu Lke[uLkk Ãkife fÞk Ãkkuxo÷Lke h[Lkk fhðk{kt
ykðe Au ?

(A) {køkoËþoLk (B) rËûkk Ãkkuxo÷

(C) rþûkf (D) WÃkhLkk Ãkife yufÃký Lknª
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031. [tÿÞkLk-I r{þLkLkwt æÞuÞ .......... níkwt / níkk.

(1) [tÿLke LkSf yLku ËqhLkk 3D atlas íkiÞkh fhðk.

(2) Chemical mapping îkhk rðrðÄ ¼qMíkhþkMºkeÞ yuf{ku yku¤¾ðk.

(3) [tÿ ÃkkuÃkzk (Lunar Crust) Lkk MðYÃkLku MkwrLkrùík fhðk{kt {ËËYÃk Úkðwt.

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 2 (D) {kºk 1 yLku 3

032. Cloud Lkk{fhý (Nomenclature) yLkwMkkh Lke[uLkk Ãkife fÞwt yu low cloud Au ?

(A) Cirrocumulus (B) Cirrostratus

(C) Altocumulus (D) Nimbostratus

033. Landfill f[hk{ktÚke .......... çkLkkðe þfkÞ Au.

(A) fwËhíke ðkÞw (B) «ðknef]ík ÃkuxÙku÷eÞ{ ðkÞw

(C) çkkÞkuøkuMk (D) WÃkhLkk Ãkife fkuEÃký

034. Ãk]ÚðeLke Vhíku ÃkkuíkkLke ¼ú{ýfûkk{kt Vhíkk WÃkøkúnu íkuLke Ÿ[kE ò¤ððkLke nkuÞ Au. WÃkøkúnLke ô[kE yu .......... îkhk
÷kûkrýf fhðk{kt ykðu Au.

(A) Pitch (B) Roll

(C) Yaw (D) WÃkhLkk ík{k{

035. WÃkøkúnLke ¼ú{ýfûkk fu su Ãk]ÚðeLkk rð»kwðð]¥kLku Mk{ktíkh yLku íkuLke WÃkh 36000 rf.{e.Lke ô[kEyu ykðu÷e Au íku
.......... fnuðkÞ Au.

(A) ÄúwðeÞ (Polar) (B) ¼qfuLÿeík (Geocentric)

(C) ¼qMÚkkÞe (Geostationary) (D) ¼qíkwÕÞfkr÷f (Geosynchronous)

036. Lke[uLkk Ãkife fÞku Qòo Ã÷kLx yu ¼khík{kt MkkiÚke ðÄw Ãkh{kÛðeÞ QòoLkwt WíÃkkËLk fhu Au ?

(A) fkfhkÃkkh (B) Lkhkuhk

(C) íkkhkÃkwh (D) fwzkLkfw÷{

037. DRDO îkhk nkÚk Ähðk{kt ykðu÷wt “Mission Shakti” Lkwt {wÏÞ æÞuÞ þwt Au ?

(A) MðËuþe yuLxeMkuxu÷kEx {eMkkE÷ Ãkheûký (Indigenous anti-satellite missile testing)

(B) Brahmos-II nkÞÃkhMkkuLkef ¢wÍ {eMkkE÷ Ãkheûký (Brahmos-II hypersonic cruise missile)

(C) MðËuþe «fkþf ÷zkÞf rð{kLk “Tejas” development (Indigenous Light Combat Aircraft “Tejas”
development)

(D) MðËuþe Ãkh{kýw Mkt[kr÷ík Mkçk{heLkLkku rðfkMk (Development of indigenous nuclear powered
submarine)

038. Lke[uLkk Ãkife fÞwt yu DRDO Lkk Integrated Guided Missile Development Programme (IGMDP) ytíkøkoík
rðfMkkððk{kt ykðu÷wt “Short range surface-to-surface ballistic missile” Au ?

(A) Lkkøk (B) Ãk]Úðe

(C) rºkþq¤ (D) yMºk
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039. Lke[uLkk Ãkife fE òuze ÞkuøÞ heíku òuzkÞu÷e Au ?

(1) økkhku  –  {u½k÷Þ         (2) MkeÆe  –  økwshkík  (3) økkUz  –  fýkoxf  (4) òhðk  –  {æÞ«Ëuþ

(A) {kºk 1 yLku 2 (B) {kºk 1 yLku 3

(C) {kºk 1 yLku 4 (D) 1, 2, 3 yLku 4

040. økwshkíkLkk ËrhÞk rfLkkhkLkk {uËkLkku yu fåAÚke Ãkrù{ {nkhk»xÙ MkwÄe rðMíkhu÷k Au. Lke[uLkk Ãkife fE LkËeyku yu yk
{uËkLkku{ktÚke ðnu Au ?

(A) Mkkçkh{íke, Lk{oËk yLku íkkÃke (B) Mkkçkh{íke yLku f]»ýk

(C) f]»ýk yLku fkðuhe (D) økkuËkðhe, Lk{oËk yLku íkkÃke

041. økwshkíkLke ðMíke øke[íkk çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

(1) 2011 Lke ðMíke økýíkheLkk ykÄkhu økwshkíkLke ðMíke øke[íkk 308 Au.

(2) 2001 {kt økwshkíkLke ðMíke øke[íkk 290 níke.

(3) 2011 {kt økwshkíkLke ðMíke yu ¼khíkLke ðMíkeLkku 4.99 «ríkþík ¼køk Ähkðu Au, 2001 {kt íku 4.93 «ríkþík níkku.

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 3 (D) {kºk 1 yLku 2

042. Lke[uLkk Ãkife fE LkËe økwshkíkLke MkkiÚke ÷ktçke LkËe Au ?

(A) Ë{ý øktøkk (B) fuhe

(C) YÃkuý (D) Ãkqýko

043. økwshkíkLke s{eLk çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

(1) AeAhe fk¤e s{eLk yu Mkkihk»xÙLkk çkuMkkÕxef ò¤ (Trap) {ktÚke rðfMke Au.

(2) AeA÷e fk¤e s{eLk yu Íkt¾k økúu htøkLke yLku {wÏÞíðu h[Lkk{kt huíkk¤ {kxeLke økkuhkzw (Loam) nkuÞ Au.

(3) yk s{eLk ¾qçk V¤ÿwÃk nkuÞ Au.

(A) {kºk 1 yLku 2 (B) {kºk 1 yLku 3

(C) {kºk 2 yLku 3 (D) 1, 2 yLku 3

044. økwshkík{kt Ball {kxe ¾Lkes (Ball clay mineral) çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk / fÞkt rðÄkLkku MkíÞ Au ?

(A) Wå[ fûkkLke Ball {kxe yu Mkwhík{kt WÃk÷çÄ Au.

(B) økwshkík yu Ball clay Lkk WíÃkkËLk{kt yurþÞk{k MkkiÚke {kuxku Au.

(C) (A) íkÚkk (B) çktLku

(D) (A) yÚkðk (B) yufÃký Lknª

045. økwshkík{kt støk÷ku çkkçkíku Lke[uLkk Ãkife fE òuze ÞkuøÞ heíku òuzkÞu÷e Au ?

(1) W»ý frxçktÄeÞ ¼usðk¤k ÃkkLk¾h støk÷ku  –  ðzkuËhk, {nuMkkýk,  yhðÕ÷e

(2) W»ý frxçktÄeÞ þw»f ÃkkLk¾h støk÷ku  –  ¼Y[, ðzkuËhk

(3) W¥kheÞ W»ý frxçktÄeÞ fktxk¤k støk÷ku  –  çkLkkMkfktXk hksfkux

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 2 (D) {kºk 1 yLku 3
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046. y÷-LkeLkku (El-Nino) çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

(1) íku Xtzk rð»kwðð]¥keÞ s¤«ðknkuLkwt rðMíkhý Au.

(2) íkuLkk fkhýu rð»kwðð]¥keÞ ðkíkkðhýeÞ Ãkrh¼ú{ý rðf]ík ÚkkÞ Au.

(3) íkuLkk ÷eÄu Mk{wÿs¤{kt çkk»Ãke¼ðLk{kt yrLkÞr{íkíkk ÃkuËk ÚkkÞ Au.

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 3 (D) {kºk 1

047. MkqÞkoMík çkkË Ãký .......... Lkk fkhýu ðkíkkðhý fux÷ef økh{e «kÃík fhu Au.

(A) ÃkkŠÚkð rfhýkuíMkøko (Terrestrial radiation)

(B) rð¼kßÞ Mkkih rðfehý (Divisible solar radiation)

(C) økwÃík økh{e (Latent heat)

(D) yÕçkuzku yMkh (Albedo effect)

048. rn{k÷ÞLke Ãkðoík{k¤k{kt ËrûkýÚke W¥kh íkhVLkk yLkw¢{{kt Lke[uLkk Ãkife fÞku rðfÕÃk MkíÞ Au ?

(A) fkhkfkuh{ - ÷zk¾ - ÍkMfh - rÃkh Ãkkts÷ (B) ÷zk¾ - ÍkMfh - rÃkh Ãkkts÷ - fkhkfkuh{

(C) ÍkMfh - rÃkh Ãkkts÷ - fkhkfkuh{ - ÷zk¾ (D) rÃkh Ãkkts÷ - ÍkMfh - ÷zk¾ - fkhkfkuh{

049. Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

(A) [¢ðkík Mkk{kLÞ heíku ðhMkkË, ðkË¤ku yLku çkhVLkk Ãkèk MkkÚku Mktf¤kÞu÷k nkuÞ Au ßÞkhu «rík[¢ðkík (anti cyclones)
yu ðhMkkËÚke {wõík Au.

(B) W»ý frxçktÄeÞ [¢ðkíkLkku SðLkfk¤ yu yuf Úke ºký yXðkzeÞk MkwÄeLkku nkuÞ Au.

(C) (A) íkÚkk (B) çktLku

(D) (A) yÚkðk (B) yufÃký Lknª

050. ¾zfkuLkk rLk{koý çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

(1) rðf]ík ¾zfLkwt rLk{koý yríkþÞ økh{e yLku ËçkkýLku fkhýu ÚkkÞ Au.

(2) Ãk]ÚðeLkk ÃkkuÃkzkLke ytËhLkk ¼køk{kt fu ßÞkt ¾zfLkk rLk{koý {kxu sYhe økh{e yLku Ëçkký nkuÞ Au íÞkt rðf]ík ¾zfkuLkwt
rLk{koý ÚkkÞ Au.

(3) fktÃkLkk ¾zfku (sedimentary rocks) yu ßðk¤k{w¾e îkhk rLk{koý Ãkk{u Au.

(A) 1, 2 yLku 3 (B) {kºk 1 yLku 2

(C) {kºk 1 yLku 3 (D) {kºk 2 yLku 3

051. økwshkíkLkk ytËksÃkºk 2020-21 çkkçkíkLku Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ LkÚke ?

(A) íku økík 2019-20 Lkk ytËksÃkºk fhíkkt Yk. 12,472 fhkuz ðÄkhu Au.

(B) rçkLk rðfkMk ¾[o yu rðfkMk ¾[o fhíkkt ðÄw Au.

(C) (A) íkÚkk (B) çktLku

(D) (A) yÚkðk (B) yufÃký Lknª
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052. «ÄkLk{tºke ykðkMk ÞkusLkk (þnuhe) çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

(1) yk ÞkusLkk ytíkøkoík ykŠÚkf heíku Lkçk¤k ðøko (Economically Weaker Section) (EWS) {kxu {fkLkLkwt fË yu
30 [ku.{e. Lkk fkÃkuox yuheÞk (¼kuÞík¤ ûkuºkV¤) MkwÄeLkwt nkuE þfu.

(2) íku{ Aíkkt, hkßÞku / Mkt½«Ëuþku yu {tºkk÷Þ MkkÚku Ãkhk{þoLk yLku íkuLke {tsqhe MkkÚku {fkLkLkk fË ðÄkhk {kxu ÃkrhðíkoLk
ûk{íkk Ähkðu Au.

(3) PMAY (þnuhe) ÞkusLkk ytíkøkoík fwxwtçkLkk {rn÷k ðzkLku {fkLkLkk {kr÷f yÚkðk Mkn-{kr÷f çkLkkððkLke «kðÄkLk
(òuøkðkE)Lku VhSÞkík fhu÷ Au.

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 3 (D) {kºk 1 yLku 2

053. íkksuíkh{kt økwshkík Mkhfkh îkhk òhe fhðk{kt ykðu÷e “Anna Brahma Scheme” çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk /
fÞk rðÄkLkku MkíÞ Au ?

(A) yk ÞkusLkk yu hksÞ{kt COVID-19 Lkk ÷kufzkWLk ËhBÞkLk yLÞ hkßÞkuLkk VMkkE økÞu÷k Ãkh«ktíkeÞ MÚk¤ktíkheík
©r{fku {kxu Au.

(B) yk ÞkusLkk ytíkøkoík huþLkfkzo Äkhf Lk nkuÞ íkuðk MÚk¤ktíkheík ©r{fku yLkks yLku yLÞ ¾kã[eòu MktÃkqýoík: rLk:þwÕf
{u¤ðþu.

(C) (A) íkÚkk (B) çktLku

(D) (A) yÚkðk (B) yufÃký Lknª

054. 2019-20 økwshkík hkßÞ Mkk{kSf ykŠÚkf Mk{eûkk çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

(1) ðMíke{kt {kºk 4.99 «ríkþík ¼køkeËkhe Ähkðíkwt økwshkík yu hk»xÙeÞ GDP Lkk 7.9 «ríkþík rnMMkuËkh Au.

(2) ¼khík{kt MkkiÚke ðÄw ËqÄ WíÃkkËLk fhLkkhk hkßÞku{kt økwshkík çkeò ¢{u Au.

(3) ¼khík{kt fw÷ rLkfkMk{kt 20 «ríkþíkÚke ðÄw ¼køkeËkhe Ähkðíkwt økwshkík yu rLkfkMk{kt yøkúíkk Ähkðu Au.

(A) 1, 2 yLku 3 (B) {kºk 1 yLku 3

(C) {kºk 1 yLku 2 (D) {kºk 2 yLku 3

055. økwshkík{kt f]r»k {nkuíMkð fkÞo¢{ çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

(A) f]r»k {nkuíMkðLkku ð»ko 2000 {kt «kht¼ ÚkÞku.

(B) {kºk ÷½w fûkkLkk ¾uzqíkku s yu f]r»k {nkuíMkð ÞkusLkk nuX¤ ÷k¼ {u¤ððk {kxu ÷kÞf økýkÞ Au.

(C) (A) íkÚkk (B) çktLku

(D) (A) yÚkðk (B) yufÃký Lknª

056. Lke[uLkk{ktÚke fÞwt hkßÞ yu MkkiÚke ô[ku ð]æÄ yð÷tçkLk økwýku¥kh (Old Dependency Ratio) Ähkðu Au ?

(A) fuh¤ (B) rçknkh

(C) W¥kh «Ëuþ (D) WÃkhLkk Ãkife yufÃký Lknª

057. hk»xÙeÞ ykðf yu .......... îkhk ÔÞkÏÞkrÞík ÚkÞu÷ Au.

(A) ½xf ¾[o Ãkh [kuÏ¾wt hk»xÙeÞ WíÃkkËLk (Net national product at factor cost)

(B) çkòh ¼kð Ãkh [kuÏ¾wt hk»xÙeÞ WíÃkkËLk (Net national product at market price)

(C) fw÷ hk»xÙeÞ WíÃkkËLk (Gross national product)

(D) WÃkhLkk Ãkife yufÃký Lknª
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058. òu yuf ËuþLkku Vwøkkðku çkeò ËuþÚke ðÄw nkuÞ, íkku rðrLk{Þ Ëh yu .......... nkuðku òuEyu.

(A) yð{qÕÞLk (B) Wæðo{qÕÞLk

(C) ÞÚkkðík hnu Au. (D) VwøkkðkLkk ËhLku ykÄkhu Wæðo{qÕÞLk fu yð{qÕÞLk

059. yþkuf Ë÷kðkE Mkr{rík yu .......... MkkÚku MktçktrÄík Au.

(A) hu÷ Mk÷k{íke (B) þnuhe rðMíkkhku{kt ¾kã Mkwhûkk

(C) ¾uzqíkLke ykðf çk{ýe fhðk (D) Mkthûký «kÂÃík (Defence Procurement)

060. Mðíktºk ¼khíkLkk yÚkoíktºkLkk MktË¼o{kt Lke[uLkk Ãkife fE ½xLkk Mkki «Úk{ çkLke níke ?

(A) ðe{k ftÃkLkeykuLkwt hk»xÙeÞfhý

(B) Mxux çkUf ykuV ELzeÞkLkwt hk»xÙeÞfhý

(C) çkUfªøk rLkÞ{Lk yrÄrLkÞ{ (Banking Regulation Act) Lkku fkÞËk ½zkÞku

(D) «Úk{ Ãkt[Þð»keoÞ ÞkusLkkLke þYykík

061. yð{qÕÞLkLkk fkhýu Mkk{kLÞ heíku yktíkrhf ¼kð{kt .......... ÚkkÞ Au.

(A) ½xkzku (B) ðÄkhku

(C) ÞÚkkðík hnu Au. (D) WÃkhLkk Ãkife yufÃký Lknª

062. “1000 Days Approach” yu Lke[uLkk Ãkife fÞk ûkuºkku MkkÚku Mkt÷øLk Au ?

(A) ¾uík «kýeykuLke ÃkMktËøkeÞwõík yku÷kËLkk WAuh {kxuLkku fkÞo¢{.

(B) þk¤kfeÞ rþûký{kt økwýkí{f MkwÄkhýk.

(C) çkk¤f yLku MºkeLkwt ÃkkÞkLkwt Ãkku»ký MkwrLkrùík fhðwt.

(D) þkMkf ÃkûkLkk ½ku»kýkÃkºkLkk y{÷efhýLke fkÞo ÞkusLkk.

063. økwshkík rðÄkLkMk¼k çkkçkíku Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

(1) nk÷{kt 14{e økwshkík rðÄkLkMk¼k{kt 13 {rn÷k MkËMÞku Au.

(2) fw÷ 13 Mkexku yLkwMkqr[ík òrík {kxu ykhrûkík Au.

(3) fw÷ 24 Mkexku yLkwMkqr[ík sLkòrík {kxu ykhrûkík Au.

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 2 (D) {kºk 1 yLku 3

064. Command Area Development Programme yu .......... nuíkwÚke þY fhðk{kt ykÔÞku.

(A) ¾uzqík (tilters) Lku s{eLk {¤u íku MkwrLkrùík fhðk

(B) ®Mk[kE ûk{íkkLkku ðÄw Mkkhku WÃkÞkuøk ÚkkÞ íku MkwrLkrùík fhðk

(C) Army Lke Mk¥kk nuX¤Lke s{eLkLkku rðfkMk

(D) ÃkMktËøke fhu÷k ûkuºkku{kt økheçke LkkçkqËeLke yMkh

065. yrðïkMk «Míkkð rðþu Lke[uLkk Ãkife fÞwt rðÄkLk / fÞk rðÄkLkku MkíÞ Au ?

(1) òu ykuAk{kt ykuAk 100 MkÇÞkuLkku xufku nkuÞ íkku s yrðïkMkLke Ëh¾kMík Ëk¾÷ fhe þfkÞ.

(2) yrðïkMkLkku «Míkkð {kºk ÷kufMk¼k{kt s Ëk¾÷ ÚkE þfu.

(3) yrðïkMk «MíkkðLke çku Ëh¾kMíkku ðå[u ykuAk{kt ykuAku A {rnLkkLkku Mk{Þøkk¤ku nkuðku òuEyu.

(A) {kºk 2 yLku 3 (B) {kºk 1 yLku 2

(C) {kºk 1 yLku 3 (D) 1, 2 yLku 3
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066. Lke[uLkk Ãkife fÞk ÷ûkýku yu ¼khíkLkk çktÄkhý{kt 73{k çktÄkhýeÞ MkwÄkhkLkk ÷ûkýku Au ?

(1) Ãkt[kÞíkkuLku çktÄkhýeÞ Ëhßòu

(2) rLkÞík ytíkhk÷u Ãkt[kÞíkLke [qtxýeyku Þkusðe

(3) {rn÷kyku {kxu MkexkuLkwt ykhûký

(4) yLÞ ÃkAkík ðøkkuoLku yLkk{ík Ãkqhwt Ãkkzðwt

(A) 1, 2, 3 yLku 4 (B) {kºk 1, 2 yLku 3

(C) {kºk 2, 3 yLku 4 (D) {kºk 1, 2 yLku 4

067. Wå[ LÞkÞk÷ÞLkk {q¤ ûkuºkkrÄfkh (Original jurisdiction) {kt .......... Lkku Mk{kðuþ ÚkkÞ Au.

(1) MkktMkËkuLke [qtxýe MktçktÄe rððkËku

(2) ÄkhkMkÇÞkuLke [qtxýe MktçktÄe rððkËku

(3) ¾qLk çkkçkíkLkk rfMMkkyku

(A) 1, 2 yLku 3 (B) {kºk 2 yLku 3

(C) {kºk 1 yLku 3 (D) {kºk 1 yLku 2

068. ¼khíkLkk çktÄkhý{kt Lke[uLkk Ãkife fÞk þçËkuLkku WÕ÷u¾ LkÚke ?

(1) Mkkðo¼ki{          (2) Mðíktºkíkk          (3) çktÄwíkk  (4) LÞkÞ

(A) {kºk 2 yLku 3 (B) {kºk 1 yLku 3

(C) 1, 2, 3 yLku 4 (D) WÃkhLkk Ãkife yufÃký Lknª

069. “Mk¥kkðkh fhkh {kxu fkLkqLke sðkçkËkhe{ktÚke ÷kufMkuðfkuLke ÔÞÂõíkøkík «ríkhûkk” yÚkkoík ..........

(A) yu{ ÚkkÞ fu ÷kufMkuðf fu suýu ÃkkuíkkLke Mk¥kkðkh ûk{íkkÚke fhkh fÞkuo nkuÞ, íku yk fhkhLkk MktË¼o{kt ÔÞÂõíkøkík heíku
sðkçkËkh LkÚke.

(B) yu{ ÚkkÞ fu Mkhfkh yu fhkh {kxu sðkçkËkh Au.

(C) (A) íkÚkk (B) çktLku

(D) (A) yÚkðk (B) yufÃký Lknª

070. çktÄkhýLkk 44{k MkwÄkhk yLkwMkkh, Lke[uLkk Ãkife fÞk {q¤¼qík n¬ku yu fxkufxe{kt MÚkrøkík fhðk{kt ykðíkk LkÚke ?

(1) SðLk yLku ÔÞÂõíkøkík MðkíktºÞ hûký

(2) [ku¬Mk rfMMkk{kt ÄhÃkfz yLku yxfkÞík Mkk{u hûký

(3) økwLkk {kxu økwLkk MkkrçkíkeLkk MktË¼o{kt hûký

(A) {kºk 1 (B) {kºk 1 yLku 3

(C) {kºk 2 yLku 3 (D) 1, 2 yLku 3

071. hkßÞMk¼k{kt rðrðÄ hkßÞku yLku Mkt½«ËuþkuLkk «ríkrLkrÄíð çkkçkíku Lke[uLkk Ãkife fÞk yLkwåAuË{kt Mk{sqíke ykÃku÷ Au ?

(A) çkeò (B) Aêk

(C) [kuÚkk (D) Lkð{k
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072. Lke[uLkk Ãkife fÞk {wÆkyu 9{k çktÄkhýeÞ MkwÄkhk MkkÚku MktçktÄeík Au ?

(A) çkuÁçkkhe Mkt½ rðMkkíkh ÃkkrfMíkkLkLku MkkUÃkðku (B) hkßÞkuLkwt ÃkwLkøkoXLk

(C) LkkUÄýe îkhk Lkkøkrhfíð {u¤ððwt (D) WÃkhLkk Ãkife yufÃký Lknª

073. Lke[uLkk Ãkife fE çkkçkík yu ¼khíkeÞ çktÄkhýLkk {q¤¼qík {k¤¾kLkku yuf ¼køk çkLkkðu Au ?

(A) ðiÄkrLkf fkÞoÃkæÄríkyku (Legislative Procedure)

(B) MktMkËeÞ ÷kufþkne (Parlilamentary Democracy)

(C) (A) íkÚkk (B) çktLku

(D) (A) yÚkðk (B) yufÃký Lknª

074. MkkWËe yhuçkeÞkLke ykøkuðkLke nuX¤Lkk økXçktÄLk îkhk Lke[uLkk Ãkife fÞk Ëuþ{kt ÞwæÄrðhk{ ònuh fÞkuo Au ?

(A) fíkkh (B) Rhkf

(C) Þu{uLk (Yemen) (D) MkuLkuøk÷ (Senegal)

075. MktÞwõík hk»xÙLkk Economic and Social Survey of Asia and Pacific (ESCAP) ynuðk÷ 2020 yLkwMkkh ¼khíkLkku
GDP .......... «ríkþíkLke ykøkkne fhe Au.

(A) 4.8% (B) 4%

(C) 3.5% (D) 3%

076. ILO Lkk COVID-19 yLku fkÞorðï (World of Work) ynuðk÷ yLkwMkkh .......... {e÷eÞLk ¼khíkeÞ ÷kufku økheçke{kt
Äfu÷kE sþu.

(A) 300 (B) 400
(C) 150 (D) 250

077. NASA Lkk Artemis «kusuõxLkku ÷ûÞktf .......... Au.

(A) [tÿLkk Ërûký ÄúwÃk Ãkh «Úk{ {kLkð {wÏÞ Akðýe (base camp)

(B) {tøk¤ Ãkh «Úk{ {kLkð {wÏÞ Akðýe (base camp)

(C) SUN Lkk Vkuxk ÷uðk {kxuLkku «Úk{ Wå[ huÍkuÕÞwþLk fu{uhk

(D) WÃkhLkk Ãkife yufÃký Lknª

078. .......... Lkk MktøkXLkku yu COVID-19 Mkk{u «ríkfkh {kxu CARUNA Lkk{Lke Ãknu÷ þY fhe.

(A) huÕðu f{o[kheyku (B) ÷kufMkuðfku

(C) IITS (D) rðï rðãk÷Þku

079. ykuÃkhuþLk MktSðLke ytíkøkoík ¼khíku .......... ËuþLku 6.2 {e÷eÞLk xLk Ëðkyku {kuf÷e.

(A) çkúkrÍ÷ (B) ©e÷tfk

(C) LkuÃkk¤ (D) {k÷Ëeð

080. rðï ykhkuøÞ rËðMk 2020 yu 7 {e yur«÷Lkk hkus WsðkE økÞku. yk ð»koLkku {wÏÞ rð[kh (Theme) .......... níkku.

(A) Ãkrh[krhfkyku (Nurse) yLku MkwÞkýeyku (Midwives) Lku {ËË fhðe.

(B) {uzef÷ MxkVLku COVID Mkk{u ÷zðk {ËË fhðe.

(C) Mkt¼k¤ - COVID-19 Mkk{u ÷zðk.

(D) MðÞt MktMkøko rLk»kuÄ - Mk÷k{ík ðkíkkðhý
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081. íkksuíkh{kt USA Mkhfkhu ¼khíkLku Harpoon Block-II {eMkkE÷Lkk ðu[ký {kxuLkk ytíkhkÞku Ëqh fÞko, yk {eMkkE÷
.......... Au.
(A) Air launched anti-aircraft missiles (B) Land launched anti-tank missiles

(C) Air launched anti-ship missiles (D) WÃkhLkk Ãkife yufÃký Lknª

082. yUø÷kuVkuLk økwÃík[h òuzký (Anglophone intelligence alliance)Lke Ãkkt[ ykt¾ku yu .......... ËuþkuLkku Mk{kðuþ fhu
Au.

(A) USA, UK s{oLke, fuLkuzk yLku ¼khík (B) fuLkuzk, s{oLke, £ktMk, USA íkÚkk UK

(C) USA, UK, fuLkuzk, ykuMxÙu÷eÞk yLku òÃkkLk (D) ykuMxÙu÷eÞk, LÞqÍe÷uLz, fuLkuzk, USA íkÚkk UK

083. Association of South East Asian Nations (ASEAN) Lkk ðíko{kLk yæÞûk yu .......... ËuþLkk Au.

(A) çkúwLkuE (B) rðÞuxLkk{

(C) ELzkuLkuþeÞk (D) ÷kykuMk

084. WWF Lkk ¼khíkLkk ÃkÞkoðhýeÞ rþûký fkÞo¢{Lkk hksËqík (Ambassador) íkhefu Lke[uLkk Ãkife fÞk ¼khíkeÞ ¾u÷kzeLke
rLk{ýqf fhðk{kt ykðe Au ?

(A) rËr÷Ãk íkehfu (Dilip Tirkey) (B) rðïLkkÚk ykLktË

(C) Mkr[Lk íkUzw÷fh (D) ¼kE[wtøk ¼qxeÞk (Bhaichung Bhutia)

085. 125 ð»ko sqLke UK ÂMÚkík {kuxh ftÃkLke Norton Lku íkksuíkh{kt fE ¼khíkeÞ {kuxh ftÃkLkeyu nMíkøkík fhe Au ?

(A) çkòs {kuxhMkkÞfÕMk (B) nehku {kuxMko

(C) xkxk {kuxMko (D) TVS {kuxMko

086. yuf ‚{ktŒh ©uýe™wt [kuÚkwt …Ë 53 nkuÞ ŒÚkk ykX{wt …Ë 113 nkuÞ Œku Œu ©uýe™wt «Úk{ …Ë fÞwt nþu ?

(A) 8 (B) 7

(C) 9 (D) WÃkhLkk …ife yufÃký Lknª

* («§ 87 Úke 89) ™e[u yk…u÷ ©uýe™ku yÇÞk‚ fhe yk…u÷k «§ku™k sðkƒ yk…ku.

C # b A P 8 6 E % m y 4 J 1 U $ v 2 © 7 T i 6 9 @ W 3 L # K 7 * Z

087. òu yk…u÷ ©uýe{ktÚke Œ{k{ ytfku Ëqh fhðk{kt ykðu Œku s{ýe ƒkswÚke ykX{wt …Ë fÞwt nþu ?
(A) T (B) ©

(C) i (D) WÃkhLkk …ife yufÃký Lknª

088. yk…u÷ ©uýe{kt ¾k‚ ðýkuo (Special Characters)™e ‚tÏÞk {q¤kûkhku (Alphabets)™e ‚tÏÞk fhŒk fux÷e ykuAe Au?
(A) 7 (B) 8

(C) 9 (D) WÃkhLkk …ife yufÃký Lknª

089. yk…u÷ ©uýe{kt yuðk ¾k‚ ðýkuo (Special Characters) fux÷k Au su™e ŒhŒ …nu÷k {q¤kûkh (Alphabet) ykðŒku
nkuÞ y™u ŒhŒ …Ae ytf (Number) ykðŒku nkuÞ ?
(A) 3 (B) 2

(C) 1 (D) 0

090. yuf [kuh‚™e ytËh yuf ytŒ„oŒ ðŒwo¤ ykðu÷wt Au. òu [kuh‚™e [khuÞ ƒkswyku ðíkwo¤™k M…þof nkuÞ ŒÚkk ðŒwo¤™wt ûkuºkV¤
38.5 [ku. ‚u{e nkuÞ Œku [kuh‚™wt ûkuºkV¤ fux÷wt Úkþu ?

(A) 42 [ku. ‚u{e (B) 49 [ku. ‚u{e

(C) 56 [ku. ‚u{e (D) WÃkhLkk …ife yufÃký Lknª
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091. yuf r¢fux xe{™k 11 ¾u÷kzeykuyu yuf R®™„{kt fhu÷ fw÷ h™™e ‚huhkþ 32 Au. òu Œu{™u Œu …Ae™e R®™„{kt ‚huhkþ
3 sux÷e ðÄkhðe nkuÞ Œku yk„k{e R®™„{kt Œu{ýu fw÷ fux÷k h™ fhðk …zþu ?

(A) 285 (B) 325

(C) 375 (D) WÃkhLkk …ife yufÃký Lknª

092. yuf xÙu™ 36 ‚uftz{kt ‚k{uÚke ykðŒe ƒeS xÙu™™u …‚kh fhu Au. «Úk{ xÙu™™e ÷tƒkR 450 {exh y™u Œu™e Íz… 54 rfr{/
f÷kf Au. òu ƒeS xÙu™ 540 {exh ÷ktƒe nkuÞ Œku Œu™e Íz… fux÷e nþu ?

(A) 99 rf{e/f÷kf (B) 54 rf{e/f÷kf

(C) 45 rf{e/f÷kf (D) WÃkhLkk …ife yufÃký Lknª

093. yuf …k‚ku ƒu ðkh VUfðk{kt ykðu Au, ƒtLku ðkh Œu™e …h ƒufe ‚tÏÞk ykðu Œu™e ‚t¼kð™k fux÷e ?

(A) 1/12 (B) 1/36

(C) 1/4 (D) WÃkhLkk …ife yufÃký Lknª

094. yuf V¤ku™k rð¢uŒk …k‚u fw÷ ‚Vhs™™k 30% ‚Vhs™ ðuåÞk ƒkË 273 ‚Vhs™ ðÄu Au. Œku Œu™e …k‚u fw÷ fux÷k
‚Vhs™ nþu ?

(A) 383 (B) 390

(C) 393 (D) WÃkhLkk …ife yufÃký Lknª

095. yuðe ‚kiÚke {kuxe ‚tÏÞk fE Au su™k ðzu 34, 90 y™u 104 ™u ¼k„ðkÚke Ëhuf ð¾Œu ‚{k™ þu»k ðÄu ?

(A) 14 (B) 15

(C) 16 (D) 17

096. ™e[u yk…u÷e {krnŒe™ku {æÞMÚk fux÷ku Úkþu ?

03, 24, 01, 54, 89, 21, 08

(A) 24 (B) 22.5

(C) 21 (D) WÃkhLkk …ife yufÃký Lknª

097. 2.5% of 4400 + 0.125% of 48800 ™wt {qÕÞ fux÷wt Úkþu ?

(A) 161 (B) 171

(C) 235 (D) WÃkhLkk …ife yufÃký Lknª

098. 21, 36 y™u 66 ™ku ÷.‚k.y fux÷ku Úkþu ?

(A) 2772 (B) 5544

(C) 1386 (D) WÃkhLkk …ife yufÃký Lknª

099. yuf ÷tƒ[kuh‚™k rðfýkuo™ku ‚hðk¤ku 20 ‚u{e Au. òu Œu™e yuf ƒksw 8 ‚u{e nkuÞ Œku Œu™wt ûkuºkV¤ fux÷wt Úkþu ?

(A) 56 [ku. ‚u{e (B) 72 [ku.‚u{e

(C) 48 [ku. ‚u{e (D) 64 [ku. ‚u{e

100. Yk. 25,000™k 12% ÷u¾u 3 ð»ko™k [¢ð]ræÄ ÔÞks y™u ‚kËk ÔÞks™ku ŒVkðŒ fux÷ku Úkþu ?

(A) Yk. 1,130 (B) Yk. 1,180.20

(C) Yk. 1,123.20 (D) WÃkhLkk …ife yufÃký Lknª

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight



AOT - MASTER ] 14 [Contd.

101. The protocol which decided to completely phase out CFC is _______
(A) Ammonia (B) Hydrogen sulphide gas
(C) Trihalomethanes (D) None of the above

102. Which of the following air pollutants is/are responsible for photochemical smog?
(A) Oxides of nitrogen, unburnt hydrocarbons, and Sunlight
(B) Ozone, oxides of nitrogen and unburnt hydrocarbons
(C) Oxides of nitrogen and carbon monoxide

(D) None of the above
103. Which one of the following sets of processes is a part of self-purification of streams?

(A) Settling, bio-degradation and desalination
(B) Flotation, ion exchange and desalination

(C) Settling, bio-degradation and aeration
(D) None of the above

104. Consider the following statements regarding harmful effects of certain air pollutant
1. Low productivity in plants

2. Participates in acid rain
3. Irritation in eyes and lungs
Which of the following pollutant has above harmful effects?
(A) Particulate matter (B) Nitrogen compounds

(C) Carbon compounds (D) Hydrocarbons
105. Water (Prevention and control of Pollution) Act was last amended in

(A) 2009 (B) 2006
(C) 2003 (D) None of these

106. The provisions of environmental protection in the constitution were made under:
(A) Article 5-A (B) Article 21-B
(C) Article 48-A and Article 51-A (g) (D) Article 27-B (h)

107. The first of the major environmental protection act to be promulgated in India was:

(A) Air Act (B) Noise pollution Act
(C) Environmental Act (D) Water Act

108. Sewage sickness occurs when
(A) Sewage contains pathogenic organisms

(B) Sewage enters the water supply system
(C) Sewers get clogged due to accumulation of solids
(D) None of the above

109. The Wildlife (Protection) Act was enacted in the year:

(A) 1972 (B) 1974
(C) 1994 (D) 1986
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110. In ambient air (annual) concentration of particulate matter (<2.5 µm or PM2.5) should not exceed
(A) 30 µg/ cubic meter (B) 50 µg/ cubic meter
(C) 60 µg/ cubic meter (D) None of these

111. The darker zone in lakes, where light penetration is negligible is called:
(A) Limnetic zone (B) Profundal zone
(C) Littoral zone (D) Euphotic zone

112. Relative contributions of CO2, CH4, CFCs and N2O towards global warming are
(A) 60%, 20%, 14% and 6% respectively (B) 50%, 30%, 10% and 10% respectively
(C) 40%, 30%, 20% and 10% respectively (D) None of the above

113. Which of the following statement is correct about Intergovernmental Panel on Climate Change
(IPCC)?
(A) IPCC published its first report in 1989
(B) IPCC does not evaluate the risk of climate change on human
(C) IPCC was established in 1988
(D) All of the above

114. Assertion (A): Two major energy blocs - the U.S. and the EU - are leading the way to phase out
first-generation biofuels and replace them completely with second-generation biofuels.
Reason (R): Second generation bio fuels do not interfere with food production.
(A) Both A and R are true and R is not the correct explanation of A
(B) Both A and R are true and R is the correct explanation of A
(C) A is true but R is false
(D) A is false but R is true

115. The atmosphere around Earth is warmed because
(A) plants release carbon dioxide
(B) fossil fuels release heat
(C) molecules in the atmosphere are warmed by radiation from Earth and retained
(D) None of these

116. In a typical troposphere, air temperature decreases with height at the following rate:
(A) 2.5 degree C per one kilometer (B) 6.5 degree C per one kilometer
(C) 4.5 degree C per one kilometer (D) 12.5 degree C per one kilometer

117. At which temperature would the Earth be radiating energy at the greatest rate or intensity?
(A) -40°F (B) -32°F
(C) 32°F (D) 105°F

118. Keeling’s reports from Mauna Loa demonstrated
(A) that sediments deposited on the seafloor can yield clues about past climates
(B) an increase in carbon dioxide from the 1950s to present
(C) that as distances from cities decreased, carbon dioxide concentrations increased
(D) None of these
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119. Which of the following is incorrect regarding fabric filter?
(A) They are liable to chemical attack
(B) They can handle large volume of gas at relatively high speed
(C) They have low efficiency in comparison to venturi scrubber
(D) They can remove very small particle

120. Identify the correct statement regarding Electrostatic precipitator.
(A) It does not cause any freezing problem
(B) It has low maintenance cost
(C) They can be operated at high temperature
(D) Minimum particle size removal is <0.5µm

121. Which of the following device is used for the removal of oil and grease?
(A) Flocculator (B) Grit chambers
(C) Tube settlers (D) Skimming tank

122. In a laboratory test of a sewage sample, the initial D.O and final D.O were found to be 10 mg/l
and 2 mg/l respectively. The test was conducted using 1% dilution. What will be the BOD of the
given sewage sample?
(A) 100 mg/l (B) 800 mg/l
(C) 8 mg/l (D) None of the above

123. Which procedure of wastewater treatment takes place without oxygen?
(A) Degradation of dissolved organic carbon compounds
(B) Nitrification
(C) Release of phosphates for the production of energy
(D) Denitrification

124. The two main gases liberated from an anaerobic sludge digestion tank would include
(A) Carbon dioxide and methane (B) Ammonia and carbon dioxide
(C) Methane and hydrogen sulphide (D) None of the above

125. When environmental Lapse Rate (ELR) is less is than Adiabatic Lapse Rate (ALR), then which
of the following occurs?
(A) Neutral lapse rate (B) Super adiabatic lapse rate
(C) Neutral lapse rate (D) Sub adiabatic lapse rate

126. Consider the following statements about waste stabilization ponds:
1. The pond has a symbiotic behaviour of waste stabilization through algae on one hand and

bacteria on the other.
2. The oxygen in ponds is provided by algae through photosynthesis.
3. The detention period for waste stabilization pond is of the order of two to three days.
4. The bacteria, which develop in the pond, are aerobic bacteria.
Which of these statements are correct?
(A) 1, 2 and 3 (B) 1, 3 and 4
(C) 2 and 4 (D) None of the above
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127. Indicate the correct statement about filters.

The flushing of filters takes place:

(A) With the aid of gravity

(B) Mainly with air and water

(C) With the same velocity as the rate of flow

(D) Continuously

128. If a fresh water sample’s total alkalinity is higher than the total hardness, it indicates that:

(A) some hardness is in the bicarbonate form

(B) all hardness is in the bicarbonate form

(C) no hardness is in the bicarbonate form

(D) all hardness is in the carbonate form

129. A technique used to determine the concentration of odour compounds in a sample is known as

(A) Chlorination (B) Settling

(C) Flushing (D) Stripping

130. The ear of the young, audiometrically healthy, adult male responds to sound waves in the
frequency range of _______.

(A) 200 to 16000 Hz (B) 20 to 16000 Hz

(C) 20 to 1600 Hz (D) 2000 to 16000 Hz

131. Which of the following appears to contribute to global cooling rather than global warming?

(A) nitrous  oxide (B) CFCs

(C) methane (D) None of the above

132. Which of the following catalyst is used for removing hydrocarbon from gaseous pollutant in
combustion unit?

(A) Activated alumina (B) Platinum

(C) Vanadium (D) Potassium permanganate

133. Which of the following statements are true?

1. Aerobic digestion is not as sensitive to environment as that of anaerobic digestion.

2. Production of sludge in aerobic digestion is relatively inert than anaerobic digestion.

3. Aerobic process is more energy consumptive than anaerobic digestion.

4. Digested sludge dewaters poorly in aerobic digestion.

Select the correct answer using the codes given below:

(A) 1, 2 and 4 (B) 1, 2, 3 and 4

(C) 2, 3, and 4 (D) None of the above

134. If the Arctic ice was somehow replaced with dense forest, which of the following situation may
arise:

(A) It will accelerate Global Warming (B) It will have no affect on Global warming

(C) It will decelerate Global Warming (D) It may or may not affect the Global Warming
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135. What is the main mechanism of UV light inactivation in microorganisms?
(A) Superoxide radicals from site specific Fenton mechanism
(B) Altered permeability of the outer cellular membrane
(C) UV causes thymine dimerization blocking nucleic acid replication
(D) None of these

136. Which of the following stress in pipe depends on temperature?
(A) Temperature stress (B) Stress due to foundation reaction
(C) Longitudinal stress (D) Internal water pressure

137. Plasma arc technology is used for the disposal of waste, which of the following is/are correct
with regard to this technology:
1. Oxides of Sulphur and Nitrogen are the polluting gases produced in this process.
2. It can be used for the disposal of hazardous and radioactive waste.
3. It can be used to treat particulate matter in ambient air.
(A) 1 & 2 only (B) 1, 2 & 3
(C) 2 & 3 only (D) 2 only

138. What do you understand by the term Dark Fermentation:
(A) It is a method to produce hydrogen as fuel from wastewater
(B) It is a method to produce methane from organic waste
(C) It is a method to reduce carbon in the atmosphere
(D) None of the above

139. Which of the following is/are the potential benefits of nuclear fusion reactors:
1. Enough readily available fuel to last more than millions of years.
2. No greenhouse gas emission.
3. Plants will produce more readily controllable nuclear wastes.
4. Deuterium can be used as potential fuels.
(A) 1 & 2 only (B) 1, 2 & 3 only
(C) 1, 2, 3 & 4 (D) 2 & 3 only

140. What happens during the breakdown of ozone?
(A) CO2 is formed (B) Nascent oxygen is formed
(C) CO2 and Nascent oxygen is formed (D) Formation of oxygen and water takes place.

141. Which of the following statements related to C/N (Carbon/Nitrogen) ratio is not correct?
(A) Higher C/N ratio slows down the rate of decomposition
(B) Higher initial C/N ratio leads to lower conservation of nitrogen in the finished compost
(C) Higher initial C/N ratio leads to cell destruction to obtain nutrition
(D) None of the above

142. Phopshate containing fertilisers cause water pollution. Addition of such compounds in water
bodies causes _______
(A) Decrease in amount of dissolved oxygen in water
(B) Enhanced growth of algae
(C) Deposition of calcium phosphate
(D) Increase in fish population
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143. According to which of the following, organism destroyed by disinfection is proportional to
organism remaining?
(A) Rose equation (B) Hazens equation
(C) Darcy’s law (D) Chicks law

144. The following residual chlorine compounds are formed during chlorination of water
1. NH2Cl       2. NHCl2       3. HOCl       4. OCl
The correct sequence of formation of these residual chlorine compounds is
(A) 2, 1, 3, 4 (B) 1, 2, 4, 3
(C) 2, 1, 4, 3 (D) 1, 2, 3, 4

145. The humus in the soil is the:
(A) Organic portion of the soil remaining after prolonged microbial decomposition
(B) Heterogeneous mixture of products resulting from the microbial and chemical transformation

of organic materials
(C) Complex of organic compounds, living organisms, water and includes gases
(D) All of these

146. What is the statement of the Kelvin effect in fluid droplets?
(A) Vapour pressure about a droplet decreases with decrease in diameter of the droplet
(B) Vapour pressure of the droplet is independent of the diameter of the droplet
(C) Vapour pressure about a droplet increases with decrease in diameter of the droplet
(D) Vapour pressure of the droplet varies with the diameter of the droplet as well as the

temperature
147. Maximum allowable noise exposure limits for a man working for 8 hours a day in a noisy chemical

plant is about _______ decibels.
(A) 90 (B) 60
(C) 20 (D) 130

148. Iron & manganese present in the polluted water is removed by _______.
(A) Simple filtration
(B) Chemical coagulation
(C) Oxidation followed by settling & filtration
(D) Chlorination only

149. In which of the following air pollution control device, two-film diffusion theory is related?
(A) Staged combustion (B) Flue gas desulphurization
(C) Cyclone separator (D) Gravity settling chambers

150. What type of colloid is an aerosol?
(A) Solid in gas (B) Gas in solid or fluid
(C) Fluid or solid in gas (D) Fluid in gas

151. Which one of the following pollutant is described by Zeldovich mechanisms for its formation
during combustion process?
(A) NOx (B) SOx
(C) PM (D) None of the above
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152. Which one of the following is related to cyclone device performance?
(A) Chapman (B) Lapple
(C) Peclet (D) Stokes

153. The highest contribution to overall albedo comes from_______.
(A) Ice (B) Clouds
(C) PM (D) Ocean

154. Mina Mata disease was caused due to _______
(A) Intake of Mercury (B) Intake of Lead
(C) Intake of Arsenic (D) Intake of Cadmium

155. The most preferred solvents to dissolve CO2 from flue gases are _______ & _______.
(A) Amine solution & liquid nitrogen (B) Amine solution & Benzene
(C) Amine solution & Ammonia (D) Amine solution & water

156. In which sludge treatment process, the sludge is treated with chemicals?
(A) Dewatering (B) Conditioning
(C) Thickening (D) Drying

157. In coal formation the complete carbonification process produce _______.
(A) Anthracite (B) Bituminous
(C) Sub-bituminous (D) None of the above

158. What is the correct sequence of formation of the following compounds during chlorination of
water in which ammonia is present?
1. NCl3       2. NH2Cl       3. NHCl2
(A) 1, 2, 3 (B) 3, 2, 1
(C) 2, 3, 1 (D) None of the above

159. Which of the following pairs is/are not correctly matched?
1. Check valve – To check water flow in all directions
2. Sluice valve – To control flow of water through pipelines
3. Air valve – To release the accumulated air
4. Scour valve – To remove silt in a pipeline.
(A) 1, 2 and 3 (B) 2 and 4
(C) 4, 3 and 2 (D) Only 1

160. An energy source that is difficult to extract but contains a large amount of energy is:
(A) Hydrogen (B) Crude oil
(C) Natural gas (D) Anthracite

161. Assertion A : Slow sand filters are more efficient in removal of bacteria than rapid sand filters.
Reason R : The sand used in slow sand filters is finer than that in rapid sand filters.
Select your answer based on the coding system given below:
(A) A is true but R is false
(B) Both A and R are true and R is the correct explanation of A
(C) Both A and R are true and R is not the correct explanation of A
(D) A is false but R is true
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162. Which of the following statements is/are correct:

A deeper settling tank for the same Q/A

1. Has no effect on floc settling as the settling rate is a function of water upflow velocity only

2. Improves settling because of additional opportunity for floc growth

3. Results in poorer settling because of the greater distance the flocs have to travel

4. Results in poorer effluent quality because of the long retention time of the sludge, but is
required to accommodate scrapers.

(A) 1 and 4 (B) Only 1

(C) Only 2 (D) 1, 2, 3 and 4

163. Compute the mean sound level from the following two readings (all dB): 60 and 60

(A) 120 dB (B) 63 dB

(C) 60 dB (D) 90 dB

164. Which of the following activated sludge process has minimum food to microorganism ratio?

(A) Step aeration (B) Conventional

(C)  Modified aeration (D) Extended aeration

165. Which of the following statements is/are correct:

1. To obtain the lowest hydraulic conductivity for a compacted clay liner you must compact the
soil with the water content higher than the optimum water content (wet side of liner of optima)
in order to obtain “dispersed structure”.

2. In general as you decrease the hydraulic conductivity of clay liner the main mechanism of a
contaminant migration changes from advection-dispersion to constraint molecular diffusion.

3. A material is considered hazardous when it contains material listed as hazardous by the USEPA
displays hazardous characteristics (i.e., ignitability, corrosivity, reactivity or toxicity) and/or
causes environmental or health damage.

Answer from the codes given below:

(A) 1 and 3 (B) 2 and 3

(C) 3 only (D) All of the above

166. 1. The Biological Demand for oxygen is directly proportional to the quantity of discharge of
waste in water bodies.

2. Increase in water temperature decreases dissolved oxygen in water which adversely affects
aquatic life.

Select the correct answer from the following codes:

(A) Only 1 (B) Both 1 and 2

(C) Only 2 (D) Neither 1 nor 2

167. The most preferred solvents to dissolve CO2 from flue gases are _______ & _______.

(A) Amine solution & liquid nitrogen (B) Amine solution & water

(C) Amine solution & Benzene (D) Amine solution & Ammonia
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168. In design of thermal incinerators for complete combustion of VOCs, which one of following
parameters must be governed properly?

(A) Residence time

(B) Turbulence to provide enough mixing between pollutant and air

(C) Temperature

(D) All of the above

169. Chapman mechanism has _______ the Ozone concentration in stratosphere due to _______.

(A) Over-predicted & accountability of even oxygen consumption by hydroxyl and NO radical

(B) Over-predicted & non-accountability of odd oxygen consumption by hydroxyl and NO radical

(C) Under-predicted & accountability of odd oxygen consumption by hydroxyl and NO radical

(D) Under-predicted & non-accountability of odd oxygen consumption by hydroxyl and NO
radical

170. What is a “tetroon” in the field of meteorology?

(A) A tool used to study humidity

(B) A tool used to study pressure variations

(C)  A tool used to study temperature deviations

(D) A tool used to study wind patterns

171. In the latest notification by MoEFCC, stated that emission standards of thermal power plants
stack to be installed in India after 01 Jan 2017 for SO2 and Hg is _______.

(A) 200 mg/Nm3 & 0.01 mg/Nm3 (B) 100 mg/Nm3 & 0.03 mg/Nm3

(C) 200 mg/Nm3 & 0.06 mg/Nm3 (D) None of the above

172. Which of the following statements is/are true in relation to the term “detention period” in a
settling tank?

1. Heavier particles need more detention period.

2. More the detention period, greater the efficiency of removal of settleable matter.

3. It is the time taken for any unit of water to pass through the settling basin.

4. Finer particles need more detention period for their removal.

Select the correct answer using the codes given below:

(A) 1, 2, 3 and 4 (B) 1, 2 and 3

(C) 2, 3 and 4 (D) None of the above

173. In global circulation of atmosphere, Ferrel cell describes _______ wind speed and _______
precipitation rate.

(A) Low & high (B) Low & low

(C) High & high (D) High & low
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174. Match List I (Impurities to be removed from sewage) with List II (Treatment unit used) and
select the correct answer using the codes given below the Lists:

 List I           List II
A. Large floating matter 1. Trickling filter
B. Suspended inorganic matter 2. Primary clarifier
C. Suspended organic matter 3. Grit chamber
D. Dissolved organic matter 4. Screens

(A) A - 4, B - 3, C - 1, D - 2 (B) A - 4, B - 3, C - 2, D - 1
(C) A - 3, B - 4, C - 2, D - 1 (D) None of the above

175. Which one of the following is marker for tyre wear emission by transportation?
(A) Zn (B) Al
(C) Cr (D) Fe

176. When Richardson number is equal to zero, what is the wind turbulence characteristic?
(A)  No vertical mixing
(B) Weak mechanical turbulence due to stratification
(C) Only mechanical turbulence
(D) Convective mixing is greater than mechanical turbulence

177. In comparison to today’s atmosphere, our primitive and early atmosphere had very excess amount
of _______ & very little or no _______.
(A) Nitrogen & Carbon dioxide (B) Carbon dioxide & Oxygen
(C) Hydrogen & Carbon dioxide (D) Oxygen & Carbon dioxide

178. The symptoms of _______ pollutant poisoning are black patches, and cracks are observed on
hand and feet skin. Also causes vomiting, abdominal, etc.
(A) Mercury (B) Arsenic
(C) Chromium (D) All of these

179. When the groundwater table in a dumping area is high, the method adopted for land filling is
(A) Trench (B) Area
(C) Depression (D) None of these

180. Why tropospheric ozone is harmful to living being?
(A) Due to contributing to earth’s albedo
(B) Due to formation of green house gases
(C) Due to formation of photochemical smog and PAN
(D) None of these

181. Following  parameter(s)  play important  role in judging  dispersion potential of air pollution of
a particular locality
(A) Mixing depth (B) Ventilation co-efficient
(C) Both (A) and (B) (D) None of these

182. Volatile matter in the solid waste is analysed during
(A) Physical Analysis (B) Ultimate analysis
(C) Biological Analysis (D) Proximate Analysis
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183. In _______ year motor vehicles act was introduced in India.
(A) 1981 (B) 1986
(C) 1988 (D) 1982

184. Low albedo is contributed by _______
(A) River (B) Ocean
(C) Snow (D) None of the above

185. The pH of pure rain water is _______.
(A) 4.5 (B) 5.6
(C) 8.5 (D) 7.0

186. The minimum light wavelength required to produce O atom from O2 is _______.
(A) 580 nm (B) 420 nm
(C) 480 nm (D) 240 nm

187. What is endogenous respiration?
(A) Discrete use of oxygen (B) Less use of oxygen
(C) Higher amount of oxygen production (D) Continual use of oxygen

188. Major criteria for considering an area  as “hotspot”
(A) Ecological fragile
(B) Richness in endemic species and impact by human activities
(C) Richness in rare and endangered species
(D) All the these

189. Which of the following method is not used for desalination?
(A) Coagulation (B) Distillation
(C) Reverse osmosis (D) Freezing

190. Solid Waste may be termed as hazardous if it is
(A) Toxic, Corrosive, Ignitable and Reactive (B) Toxic and Reactive
(C) Toxic, Corrosive and Ignitable (D) Ignitable and Corrosive

191. Fumigating phenomenon occurs in a plume coming out from any stack when
(A) Super adiabatic condition followed by inversion situation and the stack height is below the

inversion layer.
(B) Sub adiabatic condition followed by inversion situation and the stack height is above the

inversion layer.
(C) Sub adiabatic condition followed by inversion situation and the stack height is below the

inversion layer.
(D) Environment lapse rate is equal to the adiabatic lapse rate neutral

192. Which new pollutant is included in upcoming BS vehicular emission standards norm?
(A) Heavy metals (B) PAN
(C) Particle Number Concentration (D) Ozone

193. Corrosion of Tajmahal in Agra is due to the conversion of CaCO3 into
(A) Ca(OH)2 and CaSO4 (B) CaSO4 and CaNO3

(C) CaO and CaHCO3 (D) All of these
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194. Heavy Metals in leachate, generated from the solid waste, is highest in

(A) Initial adjustment phase (B) Methane formation Phase

(C) Acidogenesis Phase (D) Maturation Phase

195. Ambient Air Quality Standards were modified  on

(A) November, 2009 (B) October, 1998

(C) September, 2006 (D) April, 1994

196. For setting up of any ambient air quality monitoring station, the most important  background
information that needs to be collected includes:

(A) Details of possible sources and emissions (B) Dominant wind speed and direction

(C) Land-use pattern (D) All of these

197. We find groundwater in saturated layers called aquifers under the Earth’s surface. Three types
of aquifers exist: _______.

(A) Non-confined, confined & splitters (B) Double-confined, confined & springs

(C) Unconfined, confined & springs (D) None of the above

198. Air binding phenomena in rapid sand filters occur due to _______.

(A) mud ball formation (B) excessive negative head

(C) higher turbidity in the effluent (D) low temperature

199. Chlorine demand of water is equal to _______.

(A) difference of applied and residual chlorine

(B) residual chlorine

(C) sum of applied and residual chlorine

(D) applied chlorine

200. In lime-soda process _______.

(A) lime reduces the non-carbonate hard-ness and soda-ash removes the carbonate hardness

(B) only non-carbonate hardness is removed

(C) lime reduces the carbonate hardness and soda-ash removes the non-carbonate hardness

(D) only carbonate hardness is removed

201. The following zones are formed in a polluted river:

1. Zone of clear water

2. Zone of active decomposition

3. Zone of recovery

4. Zone of pollution

The correct sequence of occurrence of the above zones is

(A) 4, 2, 1, 3 (B) 4, 2, 3, 1

(C) 2, 4, 3, 1 (D) None of the above
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202. The specific gravity of sewage is _______.
(A) much greater than 1 (B) slightly less than 1
(C) equal to 1 (D) slightly greater than 1

203. The ratio of 5 day BOD to ultimate BOD is about _______.
(A) 2/3 (B) 1/3
(C) 3/4 (D) 1.0

204. Pick out the wrong statements:
I.    Cooling and freezing of water kills the bacteria present in it.
II. Caustic embrittlement of boiler’s metallic parts is caused by high concentration of caustic

soda in boiler feed water.
III. With increasing boiler operating pressure of steam, the maximum allowable concentration

of silica in feed water goes on increasing.
IV. Dissolved oxygen content in high pressure boiler feed water should be nil.
(A) I & IV (B) I & II
(C) II & III (D) I & III

205. Which of the following desalination method is more suitable for brackish water than sea water?
(A) Reverse osmosis (B) Solar evaporation
(C) Freezing (D) Distillation

206. Which one of the given below is identical to “mixing ratio by volume”?
(A) Weight fraction (B) Number density
(C) ppm (D) Molar volume

207. Which one of the given below is used for determination of atmospheric stability?
(A) Knudsen number (B) Richardson number
(C) Stokes number (D) Mach number

208. Which one of the below is not assumption of Gaussian plume model is that _______.
(A) Reflection of plume at ground (B) No advection in downwind direction
(C) Plume release height is effective height (D) Diffusion in lateral direction

209. The applicability of Cunningham correction factor (CCF) is judged based _______ dimensionless
number.
(A) Mach number (B) Richardson number
(C) Stokes number (D) Knudsen number

210. A grit chamber of dimensions 12.0 m  1.50 m  0.80 m (LBD), has a flow of 720 m3/hr. Its
surface loading rate and detention time are
(A) 40000 m3/hr/m2 and 1.2 minutes (B) 40000 lt/hr/m2 and 40 minutes
(C) 40000 lt/hr/m2 and 1.2 minutes (D) None of the above

211. The latest emission standard for PM & NOx of Indian power plants of more than 500 MWs
(installed before 31.12.2003) are _______.
(A) 100 mg/Nm3 & 60 mg/Nm3 (B) 100 mg/Nm3 & 200 mg/Nm3

(C) 60mg/Nm3 & 600 mg/Nm3 (D) 100 mg/Nm3 & 600 mg/Nm3
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212. The contact power theory equation is used to estimate removal efficiency of _______.
(A) Bagfilters (B) Venturi scrubber
(C) ESP (D) Cyclone

213. Fresh sludge has moisture content of 99% and, after thickening; its moisture content is reduced
to 96%. The reduction in volume of sludge is
(A) 3% (B) 25%
(C) 5% (D) None of the above

214. A circular sewer of diameter 1 m carries storm water to a depth of 0.75 m. The hydraulic radius
is approximately

(A) 0.5 m (B) 0.4 m
(C) 0.3 m (D) None of the above

215. The catalytic loss of ozone in stratosphere is caused by _______ pollutant
(A) Hydroxyl radical (B) SO2

(C) Particulate matter (D) mercury
216. Extinction meter used for the measurement of _______

(A) Elemental carbon (B) Organic carbon
(C) Visibility (D) None of the above

217. Cyclone separator works based on the _______ removal mechanism for particulate matter control.
(A) Impaction (B) Interception
(C) Diffusion (D) Diffusion & Interception

218. Most of the many oxidation-reduction reactions that occur in water are mediated by _______

(A) Virus (B) Algae
(C) Bacteria (D) Plants

219. In the treatment of water and waste water, the degree of mixing is measured by the velocity
gradient and its dimension is _______
(A) m/sec2 (B) sec

(C) m/sec (D) 1/sec
220. Fill in the blank:

The most comprehensive type of audit is the _______ system audit, which examines suitability
and effectiveness of the system as a whole.
(A) Quantity (B) Preliminary

(C) Quality (D) Sequential
221. The fate of a hazardous-waste substance in water is a function of the substance’s _______.

(A) Mass (B) Velocity
(C) Solubility (D) Viscosity

222. In which method of composting, decomposition of anaerobic waste takes place?
(A) Bangalore method (B) Depression method
(C) Trench method (D) Indian method
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223. The average emission factor of CO2 equivalent per kilowatt hour of electricity produced in
Indian thermal power plants is _______

(A) 10-20 kg (B) 0.8-0.9 kg

(C) 2-3 kg (D) None of the above

224. If in the screening stage of EIA, the impact level of a developmental project is not discernible,
then what step should be adopted?

(A) Scoping stage (B) A rapid EIA study

(C) Detail EIA study (D) All of the above

225. Ground water has the _______& _______ characteristics in general.

(A) No dissolved oxygen & Microorganisms present

(B) No dissolved oxygen & High turbidity

(C) No dissolved oxygen & High hardness

(D) None of the above

226. The colloids most commonly found in natural waters are _______ charged, hence a _______ is
required to neutralize the charge.

(A) Negatively & cation (B) Positively & cation

(C) Positively & anion (D) Negatively & anion

227. At breakthrough point, the amount of hardness removed from the water is _______.

(A) High (B) Low

(C) zero (D) None of the above

228. Coagulation occurs predominantly by _______ & _______ mechanism.

(A) Absorption of the soluble hydrolysis species & stablization

(B) Adsorption of the soluble hydrolysis species & stablization

(C) Adsorption of the soluble hydrolysis species & destablization

(D) None of the above

229. Which of the following is not an objective of EIA:

(A) Recycling and reduction of waste (B) Assessment of international funding

(C) Risk analysis and disaster management (D) All of these

230. Which one of the following chemical species of mercury is highly toxic to living system?

(A) Atomic mercury (B) Mercuric ion

(C) Organo mercurials (D) Mercurous ion

231. Catalytic incineration is unsuitable in some instances due to _______.

(A) Low combustible concentration in the gas

(B) Compounds such as lead and mercury, which will poison the catalyst

(C) Reaction of the catalyst with select inert gas

(D) All of the above
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232. Fill in the blank:

When a molecule breaks apart after absorbing a photon of electromagnetic radiation, _______
reaction takes place.

(A) Spontaneous reaction (B) Volatilization

(C) Photodissociation (D) Oxidation

233. The available heat (HAT) is equal to the gross heat (HVG) minus

(A) Sensible heat lost in the exit flue gas (B) Latent heat of vaporization

(C) Net heating value (D) Heat of combustion

234. The cut diameter for a specific type of dust collected in a cyclone was found to be 25 µm. If the
inlet velocity were doubled, what would the cut diameter be?

(A) 50 µm (B) 17.7 µm

(C) 37.5 µm (D) 100 µm

235. Which of the following particle size distributions most closely represents discharges from
industrial processes ?

(A) Binomial (B) Lognormal

(C) Weibull (D) Exponential

236. Which one of the methods given below uses the number of transfer units Nt to estimate scrubber
collection efficiency?

(A) The Theodore rule (B) The Nukiyama-Tanasawa correlation

(C) The Jhonstone equation (D) The contact power theory

237. Which one of the fuel burning in power plants given below emits less amount of carbon dioxide
per unit electricity produced?

(A) Charcoal (B) Diesel

(C) Coal (D) Natural gas

238. Which one of the boiler technologies used in power plants given below emits less amount of
carbon dioxide per unit electricity produced?

(A) Sub critical (B) Super critical

(C) Ultra critical (D) None of the above

239. Which of the following catastrophic air pollution events was not an air pollution episode that
resulted from a severe temperature inversion?

(A) London, England (B) Donora, Pennsylvania

(C) Bhopal, India (D) Belgium (Meuse River valley)

240. The U.S. Environmental Protection Agency was formed in _______

(A) 1970 (B) 1963

(C) 1967 (D) 1955
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241. Which of the following statements are part of the risk assessment process:

1. Hazard Identification.
2. Dose-Response Data.
3. Exposure Assessment.
4. Risk Characterization.
(A) All except 4 (B) All except 2
(C) All of the above (D) None of the above

242. Which of the following is an example for the attached growth biological treatment process?
(A) Aerated lagoon (B) Trickling filters
(C) Oxidation pond (D) None of these

243. The purpose of an ambient air quality monitoring program include all of the following, except
_______.
(A) to observe pollution trends
(B) to determine compliance with standards
(C) to establish air quality control regions (AQCRs)
(D) to develop long-term control strategies

244. A principle of particulate matter collection and sampling in which particles are drawn through
a device, but deflected from their original path is called _______.
(A) Filtration (B) Bubblers or impingers
(C) Gravity settling (D) Impaction

245. Fill in the blank:
Conversion of nitrite to nitrate is carried out by _______
(A) Nitrosomonas (B) Nitrobacter
(C) Nitrosococcus (D) Clostridium

246. The preferred method of sampling particulate matter and acid rain in which contaminants are
collected on a periodic basis, typically over longer averaging times (i.e., 24 hours).
(A) Continuous sampling (B) Grab sampling
(C) Intermittent sampling (D) Static sampling

247. A method of collection in which a small volume of air is quickly captured in an evacuated bottle,
gas syringe, or synthetic bag.
(A) Continuous sampling (B) Grab sampling
(C) Intermittent sampling (D) Static sampling

248. Disappearance of pink colour of water of a well due of KMnO4 indicates that water contains
(A) acidity (B) turbidity
(C) alkalinity (D) organic matter

249. Collection of contaminants by diffusion of gas, sedimentation of particles, or impaction on a
sticky surface.
(A) Static sampling (B) Intermittent sampling
(C) Grab sampling (D) Continuous sampling
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250. A sampling method used to collect organic gases on a solid surface such as carbon, silica gel, or
a molecular sieve.
(A) Adsorption (B) Settling
(C) Absorption (D) Filtration

251. Which one of the given below is not a principles used to control gaseous pollutants?
(A) Impaction (B) Absorption
(C) Adsorption (D) Condensation

252. Which one of the following control devices used effectively to control gaseous pollutants?

(A) Impingement (B) Multiple cyclones
(C) Absorption spray tower (D) Process boiler

253. Visible light is damaging to microbial cells because
(A) It damages the cell wall (B) It generates singlet oxygen and oxidizes cells

(C) It damages DNA (D) All of the these
254. Fill in the blank:

In order to have proper speech conversation, the background sound level should be at least
_______ dB(A) less than the conversation sound.
(A) 115 dB(A) (B) 20 dB(A)

(C) 10 dB(A) (D) None of these
255. TOR is fixed at which stage of EIA process?

(A) Screening stage (B) Detailed EIA stage
(C) Scoping stage (D) Project appraisal stage

256. The method or equipment best used to dispose of solid waste is _______.
(A) Rotary kiln incinerator (B) Oxidation
(C) Wet scrubbers (D) Electrostatic precipitators

257. Which of the mentioned devices are used for removing vapour phase/ gaseous pollutants?

(A) Absorption towers (B) Catalytic converters
(C) Thermal oxidisers (D) All of the mentioned

258. _______ are expensive machines that squeeze and compress the volume of waste, this enables
more waste to be carried per trip and, thus, reduce transportation costs.
(A) Evaporators (B) Compactors

(C) Graders (D) Driers
259. The compression of wet waste in the mixture releases _______ (a black foul-smelling liquid) that

is difficult to dispose of. It percolates into the soil and contaminates groundwater.
(A) Leachate (B) Pulp
(C) Drainage (D) Mother liquor

260. Bacterial cells growing in a chemostat will grow more with which of the following changes?
(A) Decreasing the dilution rate (B) Increasing the volume of the container
(C) Increasing the dilution rate (D) Decreasing the flow rate
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261. If D is the diameter of upper circular portion, the overall depth of a standard egg shaped  section, is
(A) D (B) 1.25D
(C) 1.5D (D) 2D

262. Why is chlorine more effective against microorganisms at pH 5.0 than at pH 9.0?
(A) Amount of OCl – is greater at lower pH
(B) Amount of HOCl is greater at lower pH
(C) Inorganic chloramines are produced at lower pH
(D) None of these

263. Flyash is a _______ in thermal power plants during production of electricity.
(A) Fine, glass powder product recovered from remains of burning coal
(B) Coarser, glass powder by-product recovered from molten slag of burning coal
(C) Fine, glass powder by-product recovered from gases of burning natural gas
(D) Fine, glass powder by-product recovered from gases of burning coal

264. 0.1 mL of bacterial suspension was plated out on nutrient agar. After incubation at 37° C, 279
colonies appeared. Give the CFU/mL.
(A) 27.9 CFU/mL (B) 2,790 CFU/mL
(C) 279 CFU/mL (D) None of these

265. The wet disposal of Fly ash results in _______ in ground water system.
(A) leaching of toxic heavy metals (B) Adsorption of toxic heavy metals
(C) Adsorption of toxic nuclear waste (D) Scrubbing of toxic heavy metals

266. India is the first country to develop ICAP which assess cooling requirements across sectors in
next 20 years and the associated refrigerant demand and energy use. What is the full form for
ICAP?
(A) India Climate Action Plan (B) India Conservative Action Plan
(C) India Cooling Action Plan (D) International Climate Action Plan

267. India’s National Action Plan  on Climate  Change (NAPCC) that  has  eight major missions  on
Solar, There are 15 species found in community 1 and 25 in community 2. Between them, they
have 12 species in common. Calculate the Sorenson’s Coefficient
(A) 3.33 (B) 0.6
(C) 0.33 (D) None of these

268. What is pulverised coal?
(A) Non-smoking coal (B) Coal free from ash
(C) Coal broken into fine particles (D) Coal which burns for long time

269. FAME scheme was launched in 2015 under NEMMP. Its main aim is to promote _______.
(A) Climate change (B) CNG based vehicles
(C) Improved road facility (D) Incentive for electric vehicles

270. The effective size (ES) of sand and its uniformity coefficient (UC) are the usually specified
parameters for sand filters. In slow sand filters, as compared to rapid sand filters,
(A) ES is more but UC is less (B) ES is less but UC is more
(C) Both ES and UC are more (D) ES and EC are equal
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271. Green belt has been defined as mass plantation of pollutant-tolerant trees for mitigating the air
pollution by _______, _______ and _______ pollutants in a sustainable manner.
(A) Filtering, intercepting and chemically reacting
(B) Filtering, intercepting and absorbing
(C) Dusting, intercepting and chemically reacting
(D) Settling, intercepting and absorbing

272. Air Pollution Tolerance Index (APTI) for plants, which is based on four biochemical properties
of leaves;
(A) Acetic acid, total chlorophyll, relative heavy metal content and leaf extract pH
(B) Ascorbic acid, total chlorophyll, relative heavy metal content and stem extract pH
(C) Ascorbic acid, total chlorophyll, relative heavy metal content and leaf extract pH
(D) Ascorbic acid, total chlorophyll, relative water content and leaf extract pH

273. The rational formula for peak drainage discharge computations was evolved by
(A) Kuichling (B) Fruhling
(C) Lloyd David (D) All of them

274. Use of Spectro photometer for the measurement of gaseous pollutants involves _______ law in
estimating the concentration according the _______ of the coloured solution.
(A) Beer-Lambert law & strength (B) Beer-Lambert law & absorbance
(C) Beer law & strength (D) Beer-Lambert law & desorption

275. Main trunk sewers, larger than 0.9 m in diameter, are designed due to ventilation considerations,
at maximum discharge, running at
(A) ¾ full depth (B) ½ full depth
(C) 2/3 full depth (D) Full depth

276. What is the Haldane equation used for?
(A) To calculate the percentage of oxygen addition and carbon dioxide removal during respiratory

action
(B) To measure the amount of oxygen converted to ozone for a given wavelength of UV light
(C) To measure the percentage of carbon monoxide that is oxidised to carbon dioxide in various

levels of oxygen
(D) To measure the ratio of affinity of carbon monoxide and oxygen to bind to a haemoglobin

molecule
277. Out of the following, the only non-recording type of rain gauge is

(A) Weighing type (B) Symon’s type
(C) Tipping bucket type (D) None of these

278. Which one of the following is disease caused by PM on humans?
(A) COPP (B) POCD
(C) COPD (D) AQI

279. The minimum exposure dosage (in ppm) for CO to induce fatality is _______.
(A) 200 (B) 3
(C) 30 (D) 600
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280. There should at least be clearance of _______ of safe distance be maintained from River and
water body in case of ash disposal in abandoned mines to prevent embankment failures and
flyash flowing into the nearby water body.
(A) 500 m (B) 50 m
(C) 50000 m (D) 15 m

281. Which one of the following is not flyash utilization?
(A) Road construction (B) Mine backfilling
(C) Fuel extraction (D) Soil conditioner

282. Match List I with List II and select the correct answer using the codes given below the Lists:
List I (Treatment unit) List II (Detention time)
A. Grit chamber 1. Six hours
B. Primary sedimentation 2. Two minutes
C.  Activated sludge 3. Two hours
D. Sludge digestion 4. Twenty days

(A) A - 1, B - 2, C - 3, D - 4 (B) A - 3, B - 1, C - 4, D - 2
(C) A - 2, B - 1, C - 3, D - 4 (D) A - 2, B - 3, C - 1, D - 4

283. Carbon dioxide equivalent is _______.
(A) Carbon foot printing
(B) Emission inventory accounting for all the carbon emissions within the boundary
(C) Life cycle assessment starting from cradle to grave
(D) The emission of a gas, by weight, multiplied by its ‘global warming potential’

284. Which one of the given below country has not ratified “London convention (LC72)”?
(A) Pakistan (B) Australia
(C) Peoples Republic of China (D) India

285. Which one of the following gas in the atmosphere will increase the pH of rain water by reacting
with it?
(A) Nitrogen oxides (B) Carbon dioxide
(C) Sulphur dioxide (D) Ammonia

286. Hardness removal is necessary for _______.
(A) Borewell water (B) Lake water
(C) River water (D) Rain water

287. Electronic hazardous waste includes _______
(A) Lead, Mercury, Carbon and Cadmium
(B) Lead, Mercury, hexavalent chromium and Methane
(C) Lead, Mercury, hexavalent chromium and Cadmium
(D) Lead, Mercury, trivalent chromium and Cadmium

288. The _______ law governs the transfer of atmospheric oxygen in to dissolved oxygen in the water
bodies.
(A) Charles (B) Henrys
(C) Boyles (D) Daltons
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289. The rate of change of dissolved oxygen in water bodies is governed by _______.
(A) Streeter-Phelps (B) Gaussian
(C) Reynolds (D) Normal distribution

290. DO sag curve used to find the _______.
(A) COD of the stream
(B) Lowest DO level occurring point due to the industrial waste discharge
(C) TDS of the stream
(D) Highest DO level occurring point due to the industrial waste discharge

291. The ability of solutes in water to neutralize added strong acid is called _______.
(A) Hardness (B) Alkalinity
(C) Total dissolved solids (D) Acidity

292. Water hardness is due mostly to the presence of _______.
(A) Suspended solids (B) Vapour
(C) Ca2+ ions (D) gases

293. The parameter pE is defined conceptually as _______.
(A) the negative log of Ca2+ ions (B) the negative log of the hydrogen ion
(C) the negative log of the proton activity (D) the negative log of the electron activity

294. The average sewage flow from a city is 95x106 l/day and the 5-day average BOD of the sewage is
300 mg/l. The average contribution of BOD5 is 0.08 kg/person/day. The population equivalent of
city will be
(A) 355350 (B) 255450
(C) 356250 (D) None of these

295. The slope of a 1.0 m diameter concrete sewer laid at a slope of 1 in 1000 develops a velocity of 1
m/sec, when flowing full. When it is flowing half full, the velocity of flow through the sewer
will be
(A) 0.5 m/sec (B) 2 m/sec
(C) 1.0 m/sec (D) None of these

296. A significant natural source of radionuclides in the atmosphere is _______.
(A) Molybdinum (B) Radon
(C) Plutonium (D) Uranium

297. In which of the following plumes, stable condition prevails?
(A) Lofting (B) Fanning
(C) Neutral (D) Fumigating

298. Chronic exposure of plants to sulfur dioxide causes _______.
(A) Reduced growth (B) necrosis
(C) Cholorosis (D) Epinasty

299. Marine aerosols and incineration of organohalide polymer wastes produces _______.
(A) Na and CO (B) Na and Mg
(C) Na and Ca (D) Na and Cl

300. If total hardness and alkalinity of a sample of water are 300 mg/l and 100 mg/l (on CaCO3 scale)
respectively, then the carbonate and non-carbonate hardness in mg/l will be
(A) 400 and 300 respectively (B) 100 and 200 respectively
(C) 200 and 100 respectively (D) None of these
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